
1258 cg      =       ........................................................................................................     dg

804,49 cL      =       ........................................................................................................     mL

76 m³      =       ........................................................................................................     hL

51 m³      =       ........................................................................................................     L

2 kilo      =       ........................................................................................................     gram

50 dg      =       ........................................................................................................     hg

554,99 L      =       ........................................................................................................     cm³

7200 seconde      =       ........................................................................................................     uur

97,82 km³      =       ........................................................................................................     hm³

218,2 m³      =       ........................................................................................................     hL

343,843 mm      =       ........................................................................................................     hm

192 cm²      =       ........................................................................................................     dam²

752,88 dam³      =       ........................................................................................................     hm³

582 L      =       ........................................................................................................     dm³

94,3 m³      =       ........................................................................................................     hL



1258 cg   =   125,8 dg

804,49 cL      =     8044,9 mL

76 m³      =     76000 dm³      =     76000 L      =     760 hL

51 m³      =     51000 dm³      =     51000 L

2 kilo   =   2000 gram

50 dg   =   0,05 hg

554,99 L      =     554,99 dm³      =     554990 cm³

7200 seconde = (7200 : 60) minuten = 120 minuten = (120 : 60) uur  =  2 uur

97,82 km³      =     97820 hm³     (komma 3 x 1 plaats naar rechts)

218,2 m³      =     218200 dm³      =     218200 L      =     2182 hL

343,843 mm      =     0,00343843 hm     (komma 5 plaatsen naar links)

192 cm²      =     0,000192 dam²     (komma 2 x 3 plaatsen naar links)

752,88 dam³      =     0,75288 hm³     (komma 3 x 1 plaats naar links)

582 L      =     582 dm³

94,3 m³      =     94300 dm³      =     94300 L      =     943 hL


